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QUESTION 1

Your customer is reporting less than optimal performance for their online payment processing application. The payment
processing application is running on a Windows Server cluster with the back-end Oracle databases running on Oracle
Enterprise Linux (OEL). Both the application and database environments have been presented storage from the
customer\\'s VNX solution.

Which tool is best suited to identify performance issues on the application servers?

A. Perfmon

B. Oracle Statspack

C. Workload Analyzer

D. IOSTAT

Correct Answer: A

QUESTION 2

Your customer has a 2,000 GiB traditional LUN containing a database of customer information. Data belonging to active
customers is frequently accessed, but the majority of the data is static and seldom used. Your customer wants to
implement block compression on the LUN.

What should your customer be made aware of?

A. The LUN will be migrated to a thin LUN.

B. Database logs are incompatible with block compression.

C. Database tablespaces are incompatible with block compression.

D. The LUN will be migrated to a thick LUN.

Correct Answer: A

QUESTION 3

Your customer has a new VNX solution configured with Flash, SAS, and NL-SAS drives. The customer requires their
DSS, VDI, Software Development, and Regulatory Compliance workloads to be distributed between the different drive
types. Due to limited drive quantities only one workload type can be configured using Flash drives.

According to best practices, which configuration best assigns the workloads?

A. VDI on Flash drives; DSS on SAS; Software Development on SAS; Regulatory Compliance on NL-SAS

B. DSS on Flash drives; VDI on SAS; Regulatory Compliance on SAS; Software Development on NL-SAS

C. DSS on Flash drives; VDI on SAS; Software Development on SAS; Regulatory Compliance on NL-SAS

Latest E20-880 Dumps | E20-880 Exam Questions | E20-880 Braindumps 2/4


https://www.pass4itsure.com/e20-880.html
https://www.pass4itsure.com/e20-880.html
https://www.pass4itsure.com/e20-880.html

https://lwww.pass4itsure.com/e20-880.html
2024 Latest passditsure E20-880 PDF and VCE dumps Download

a VCE & PDF
— PassditSure.com

D. VDI on Flash drives; DSS on SAS; Regulatory Compliance on SAS; Software Development on NL-SAS

Correct Answer: A

QUESTION 4

You designed the disk layout on a VNX storage system for a large client. They have a very large amount of basic file
data consisting of Word documents and text files. The data needs to be accessible but sits for long periods of time
without activity.

You decided to place this data on a thin LUN and compress it to maximize capacity. The client is concerned about how
much capacity they will reclaim with compression.

Based on the data that is going to be placed on the compressed LUN, what compression ratio will the client typically
see?

A 21
B.3:1
C.41
D. 81

Correct Answer: A

QUESTION 5

Refer to the exhibit.

RG 5-5PB RG 6 - SPB RG T - 5PB
= LUM 27 - d20 LUN 28 - d21 LUN 31 - d22
(2]

RG 5 - 5PA RG B - 5FA R F - 5FA

LUN 26 - d12 LUN 28 - d13 LURN 30 - d14

RG 2 - 5PB RG 3 - SPB RG 4 -5FB
= LUN 21 =d17 LUN 23 — d18 LUN 25-d19

RG 2 - SPA RG 3 - SPA RG 4 - 8FA

LUN 20 - dB LUMN 22 - d10 LUN 24 - d1f
RGO - 5PE RG 1 -3PB
= LUN 17 - d15 LUN 18- d16
L=
RG 0 -SPA RG 1-5PA
LUN 16 - d7 LUN 18 - d8

A customer has three SAS DAEs configured with eight 4+1 RAID 5 Groups (RG) and six Hot Spares as shown in the
exhibit. All RGs are unused except for RG 0, which contains the Control LUNs. All LUNs except for those in RG 0 are
the same size.

Which dvols will be selected for file system creation using Automatic Volume Management System-defined pools?
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A. dvols 11, 13, 20, and 22
B. dvols 9, 12, 14, and 18
C.dvols 7, 11, 17, and 25
D. dvols 9, 10, 11, and 12

Correct Answer: A
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